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QUESTION 1

Identify three types of activities that are captured in Administration logs. (Choose three.) 

A. migrations with the site as target 

B. deployment of configuration product families 

C. creation of data tables 

D. modification of Commerce process objects 

E. creation of configuration objects 

F. uploading of files in File Manager 

Correct Answer: ABD 

 

QUESTION 2

When implementing Subscription Ordering according the Subscription Ordering Implementation Guide, you are asked to
modify the formula for the Price (List) line level attribute. What must you do to properly modify the formula? 

A. Add an initial condition that tests for a valid entry in a specific Subscription Ordering price book with a true value of
zero. 

B. Add an initial condition that tests for the Action Code to be either DELETE or TERMINATE with a true value of zero. 

C. Add an initial condition that tests for the Action Code to be either DELETE or TERMINATE with a true value of Part
Base Price. 

D. Add an initial condition that tests for a valid price value in the Price field of the BOM Item Definition table with a true
value of the valid price value. 

E. Add an initial condition that tests for a valid price value in the Price field of the BOM Item Mapping table with a true
value of the valid price value. 

Correct Answer: C 

 

QUESTION 3

Which two items are not included in an environment refresh? 

A. Automated FTP upload to CPQ schedule 

B. Active sessions 

C. Users 

D. Commerce transactions 
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E. Configuration administration 

Correct Answer: AE 

 

QUESTION 4

When designing an integration with an ERP system, you must communicate with a third party integration tool (such as a
middleware or a hub). Which three methods can be used to communicate with a middleware in this scenario? (Choose
three.) 

A. Automated FTP 

B. urldata function call in a Commerce Advanced Modification BML function 

C. Formula Management 

D. Commerce Integration XSLs on an Action 

E. Send XML on a Transition Rule via Real Time Integration 

F. Commerce Integration Cloud Service Integration on an Action 

G. DataCube Reporting 

Correct Answer: BEF 

 

QUESTION 5

There are two single-select attributes in an array set. The first single-select attribute shows a list of countries and the
second attribute shows a list of states. Which is the most efficient way to show relevant states based on chosen
country? 

A. Use the Hiding rule, which is the only possible option, because arrays do not do not support Constraint rules. 

B. Create Hiding rules for each country with Simple Conditions, and then select valid states for the Action attribute. In
this case, the number of Hiding rules will be equal to the number of countries. 

C. Create a Constraint rule for each country in the drop-down list by using Simple Conditions and select valid states for
the Action attribute of the rule. In this case, number of rules will be equal to the number of countries in the list. 

D. Load all country and state combinations in a data table and write a Constraint rule to lookup the data table. 

Correct Answer: B 
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